Polygons

Questions
Q1.
>k
B Diagram NOT
A >—C . + Ayratx
60° accurately drawn
D F
P S
ABC, DEF and PQRS are parallel lines. o
BEQ is a straight line. L BRR = GO (4"62"“*‘1"‘
Z S
Angle ABE = 60°
Angle QER = 80°
x = 186 - (&o+co)
Work out the size of the angle marked x.
Give reasons for each stage of your working. = 180 — 140

= 406 CL S'uw-.arG'A)

(Total for question = 4 marks)

Q2.

Here is a pentagon ABCDE.



Diagram NOT
accurately drawn

X = 180 — 96

2
AB = BC =BD
ABDE is a kite.
- ga
Angle AED = 40° —
Angle EDB = 130° ra

Angle BDC = 72°
Work out the size of angle ACB.

(Total for question = 3 marks)

Q3.

ABCDEFGHI is a regular 9-sided polygon.
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Diagram NOT Lot ¢ (Bo—aqao
accurately drawn

M
>
*
N
Q|

N

(4o’
o +280 =360

P> = VEo —250

The vertices B and E are joined with a straight line. N = Lo

Work out the size of angle BEF. —
You must show how you get your answer.

Qe = l4p-a0 = J00°

(Total for question = 4 marks)

Q4.
B C Diagram NOT
accurately drawn
e
zT / D
J 140°1 1400\ K
HL \ 2 E
G F T-E ¢ ot r‘csvlar
ABCDEFGH is a regular octagon. o c_r\'kso». = |$°
BCKFG] is a hexagon.
JK is a line of symmetry of the hexagon. €cec — | - 28 — q0
Angle BJG = angle CKF = 140° L ee - 3§
Work out the size of angle KFE. c 25 @

You must show all your working.



(Total for Question is 4 marks)

Q5.

A B Diagram NOT
accurately drawn

€ 2 = 13¢°
K . M N KCS
G b Pﬁ’\HSo-\
P R (Mt ¢ = )68°
S

F £ 9= I35 -r(ag
ABCDEFGH is a regular octagon.

= 29°
KLQFP and MNREQ are two identical regular pentagons. 3 - 1
Work out the size of the angle marked x. X = 180 ~ C 27 +27)
You must show all your working. .
= 126€

(Total for question = 4 marks)

Q6.



4 G Diagram NOT é $ o # Fﬁ-v\x_QﬁOh

L accurately drawn

E Sow é‘° 5—406

B 168 2 B¢ F = Yd(o-—(‘toa«o-ubz)
2.
D
B2g' c £ BcF =126°
C F
ABCDE is a regular pentagon. ZdYF = 126 —10o%X

ACFG is a square.

Work out the size of angle DCF.
You must show all your working.

(Total for question = 4 marks)

Q7. The diagram shows a pattern using four identical rhombuses.

Diagram NOT
‘ accurately drawn

4» a = 18 -GS
- IJY‘>
(a..”:cj 4{)

Work out the size of the angle marked a.

You must show your working.

(Total for Question is 4 marks)



Q9.

AmJI&S Q‘é

rc.ﬁu |c.f
Lgxasaa - 120°
Q8.
Diagram NOT
accurately drawn
¢ E A€
< TJ2o—432 -
2
ABCDEand AFGCHare regular pentagons. 2
The two pentagons are the same size.
Work out the size of angle EAH. yd ‘E-A t - ’ 4’ 4 - '7‘2
You must show how you got your answer. 2.

n

3¢°

(Total for Question is 4 marks)

Diagram NOT
accurately drawn

x <= 13;——/0\2

ZEL



The diagram shows two regular polygons.

Find the size of the angle marked x.
Give reasons for your answer.

(Total for question = 4 marks)

Q10.

Diagram NOT
accurately drawn

|2<5
€ x & ot ‘Dec.sw\

EQ/LO:}L

j] 0

A, B, C and D are four vertices of a regular 10-sided polygon.
Angle BCX = 90°.

£ vex =3¢ ~( 0 +rad)
Work out the size of angle DCX.

(Total for Question is 3 marks)

Q11.

ABCDE and PQRST are regular pentagons.



Diagram NOT
accurately drawn

/ Se¢ = 36o0—10%
2

D C

SR is parallel to DC
AP =BQ =CR =DS =ET

Work out the size of angle SRC.
You must show all your working. g

(Total for question = 3 marks)

Q12.

Diagram NOT
accurately drawn

o¢ = 340 -[Iog*lég-—ic’)

X = 3o — ot

The diagram shows a square and 4 regular pentagons. o
g q g p g < = r4

Work out the size of the angle marked x.




Polygon Facks
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/\ (Total for Question is 3 marks)
wej P(-/\-'(""J°"\ 3 -éf,a_.,.sfq qu(-Ll

3 x 180 = S40°




